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1. Record errors
SN Image Type Comment
04378 S, No discussion record in IRG #48. The Zhuang word is soemj, the meaning is acid (f&). The radical should be changed
@% record error
(G) G_74651301 back to “164 F§”, SC should be “15”, FS should be 4.
00592 No discussion record in IRG #48. The radical should be backto “30 [~ , SC should be “8” , TS should be “11”,
record error

(UK) UTC-01615 FS should be 1.




2. Missing updates

SN Image Type Comment
01191 Vs Radical should be “24 1+, SC should be 14", FS should be 4 according to the discussion record in IRG #48.
El.tj Missing update
(G) G_Z0431302
3. IDS
SN Image Type Comment
00237 A ] IDS Should be “[:E:? /T E%J%”.
]Hi\i IDS
(UK) UTC-01469
00666 " IDS should be “iii[ { %,
g s
(K) EC-00269
00760 - IDS should be “i7% .
4
o IDS
(K) EC-00715
00766 . IDS should be “{ i+ A,
(=] IDS
(K) EC-00723




IDS should be “i

“ﬁ* N2

00852 hJ
IDS
(T) UTC-01652
00868 e IDS should be “-- 72>,
ﬁ IDS
(UK) UTC-01737
00939 l"'l‘ IDS should be “iLiFEA4",
] L.l IDS
G) G_Z3701302
01036 Ly IDS should be “i--1l] 7 ”
..-I_f"' EA‘ IDS
) KC-04996
01200 '_,r IDS should be i 1 =i[Al[A] .
{ A IDS
(K) KC-01175
00754 :]:’fT IDS should be “i- R0
/LN DS
(K) EC-00704
IDS should be “{{{H 7.
01609 \
[k s
(K) EC-01655




01748 1: IDS should be “{ LA ——2k”,
% IDS
(K) KC-01834
01786 IDS should be “/ iR,
B
’_’l HE DS
(K) KC-01888
. IDS should be “i 1} 7 i\
01973 NN
/ DS
(T) T13-2C60
02046 \E IDS should be “[: 7 ifi—
%
/ IDS
(T) T13-2C7C
IDS should be “{ 1} ¥ i-i/k”
02051 7
/ IDS
(T) T13-2C74
02448 <17 IDS should be “i&: 77,
i IDS
(T) T13-2D79
IDS should be « & (i~
02471 fl_[fﬁ
IDS
T13-2E24

(M




IDS should be “--

02574 B | = |IDSshould be “i:Z
AR IDS
(T) T13-2E49
02849 EE IDS should be “/Zi 1 HH >
IDS
(T) T13-2F46
02952 — IDS should be “ 7R,
it
(K) KC-03002
03125 ?E‘E IDS should be “i¥%[X]”.
r==J IDS
(T) T13-3033
03190 IDS should be i K%
;I% IDS
(K) KC-03272
03648 e fe IDS should be “:= g~
—_f—" IDS
(K) KC-03660
IDS should be “-iKIfM” , TS should be “9”.
03763 ﬁ
IDS and TS
(T) T13-3070




03765 IDS should be (311",
Jmlﬁg IDS
(T) T13-3072
03825 ﬁ_‘ﬁ IDS should be “{i:i7, 7 , TS should be “14”.
IDS and TS
(G) G_Z4071301
03847 Sy IDS should be “{{i5 5, SC should be “6”, TS should be “13”.
ﬁl:l IDS, SC and TS
(UK) UTC-01454
04027 - IDS should be “FH{H T HE & 1 B
Q IDS
(UK) UTC-01653
04181 = IDS should be “{/H5”, Please see IRGN2201 and corresponding record in IRG #48.
It
$)5‘ DS
(G) GHZRGB3T93. 06
04308 . IDS should be “{iH_{E i ) £/ | 7,
hl
'.[J% IDS
(K) EC-04116
- — IDS should be “if:i_%%”
04317 i%
UTC IDS
UK
(UK) 01545




IDS should be “

S

04601 F-‘
| _J DS
(UK) UTC-02768
04629 EJT IDS Should be “[:E:jléﬂ %:”.
H H IDS
(G) G 72402204
04718 T IDS should be “{ JfEE.”.
=R IDS
(K) EC-04376
ﬁl% IDS
(UK) UTC-02738
05106 = IDS should be “iIfi-iH 72, The evidence shows it is the variant form of &, and % is the variant form of fg as
~ N
i IDS well, so we can confirm the lower right part (aka :1/\Z2) of this character is the variant form of %.
(G) GHZRB5015. 19
05266 @Iﬂ‘ IDS should be “U-JE.;\N% ”
L | IDS
(SAT) USAT09827
IDS should be “i1E:= AN & .
05547 i%H
iiil=] DS
(T) T13-3138




4. Radical

SN Image Type Comment
00206 T~ The variant form is . MN% A& E. The evidence shows the radical on E H ks is AN, so the radical should be
&F
}IZ}\ radical, SC
(G) GHZR10236. 12 “1 —, SC should be “117, FS should be 3.
00287 Hﬁa‘ The Zhuang word is bwt, the meaning is lung (fifi). We can know the phonetic component is /\. So the radical should
VA radical, SC, TS
(G) G_Z03813503 be changed to “130 [A”, . SC should be “6”, TS should be “10”, FS should be 1.
The evidence shows GHZR10115.06 is the variant form of . [f: M LI % However, LI has become Y which
00300 v 7
= radical, SC isn’t the correct semantic component, we could choose the phonetic component as the radical. Maybe the radical
Y
(G) GHZR10115. 06
should be changed to “122 >, SC should be “2”, FS should be 3.
The evidence shows “USAT05880 -+ B -+ B 3C/E USAT06181 FUAKHLTE 1115 USATO5880 FHAL -+
Compare with 30, we know USATO05880 is the variant form of [ (U+655D) and USATO06181 is the variant
00301 Eﬁ form of K (U+3840). The radical of ¥ (U+3840) is 1 and the evidence has shown the radical of USAT06181
radical, SC
(SAT) USATO6181 is 1. Therefore, the radical should be changed to “50 Tf1”, SC should be “6”, FS should be 4.




UTC-01328 isa FE I GEET. (FELAEERE) written by BH/EE shows that ME[FEE, so the radical should
be changed to “172 £, SC should be “3”, FS should be 2.

==
00304 =1 ﬁ\
radical, SC
(UK) UTC-01328 ey | £ | : 8 44
i L4 oo ol o
E 51
00408 jj]:'[ UTC-01686 is the simplified form of %5, and the radical of % is [, so the radical should be changed to “30 1,
i-"'* ] radical, SC
(UK) UTC-01686 SC should be “6”, FS should be 5.
00465 The Zhuang word of G_Z2952302 is loz, the meaning is beam (&), and ZEEZH I, so MZE4 5. The radical
radical
(G) G_Z2952302 should be changed to “19 777, FS should be 2.
00466 " The Zhuang word of G_Z4171101 is rawz, the meaning is about the year, so M 2. The radical should be
’L[‘ radical, SC
(G) G_Z4171101 changed to “51 T+, SC should be “8”, FS should be 2.
00528 A\ The Zhuang word of G_Z1702401 is gaep /kap’/, the meaning is combination (454). The initial of /% is & in
radical, SC
(G) G_Z1702401 Middle Chinese. So M& & The radical should be changed to “30 1, SC should be “7”, FS should be 5.
00556 —Il_'—* The radical in 7K v2 is 1, which is easy to search. The radical should be changed to “24 —+, SC should be “7”,
=, radical, SC
(G) GHZR10074. 03 FS should be 2.




The Zhuang word of G_Z2442301 is hanz, the meaning is “/Z1E”, and the other cognate variant form is i-iZEfZ

00976 %
= radical, SC shown by the evidence, so MIE (aka X IF) FER B The radical should be changed to “77 1E”, SC should be “11”,
(G) G_Z2442301
FS should be 4.
01940 /,.K The Zhuang word of G_Z0851403 is conh /comn®/. As we know, all the /ts-//ts"-//tg-//t¢"-/ et. al had become /¢/ in
~J radical, SC Zhuang language. The phonetic component is 51", and the meaning is “Jit « ¥ ~ Jf” which are all about water, so the
G_Z0851403
@) —e9 radical should be back to “85 7K™, SC should be “3”, FS should be 5.
The Zhuang word of G_Z3561201 is ndeiq /dei’/. This pronunciation looks like to study from the original form of 5
01594 .
Eﬂi dical. SC L BEE and so on, so the initial of ¥} had been the voiced one, and it’s so common that /@i/, /ui/ & /ei/ appear
radical,
(G) G 73561201 alternately in E-§F§ & HERFS. The phonetic component is X, and the meaning is star (££), so the radical should be
back to “10 H >, SC should be “10”, FS should be 3.
01086 &L The radical of & (U+29810)is &, so the radical should be changed to “185 &, SC should be “8”, FS should be
Ef radical, SC
(SAT) USATO7220 1.
01094 1E: The Zhuang word of G_Z2441402 is hangz, the meaning is chin. Tooth (&) is closer with chin than work (), so M
I.él]: radical, SC
(G) G 72441402 4 (14)PE4 2. The radical should be changed to “211.1 §” SC should be “3”, FS should be 1.
01139 The evidence shows “USAT05879---- TRV RS £ = R F B RS SR ” Compare with #i.
% radical R & FREEFH we could found out “HERIZ” should be corrected to “HERF . USAT05879 is the variant
(SAT) USATO28TS form of J#, so the radical should be changed to “30 H”, FS should be 4.
01153 * The evidence shows -« PR eeeees AL 3 IR IR G R BB/ EUSAT06491 5 A &AL 8 1 =2 5 /o
ét radical 11137, so we can confirm USAT06491 is the variant form of X & JE. The radical should be changed to “85 7K”,
(SAT) USATO6491
FS should 3.

10




01176 Jb The Zhuang word of G_Z2081105 is gumgq, one of the meanings is back (1), and the other meanings are about human
ﬁ radical, SC
(G) G_Z2081105 organs. The radical should be changed to “130 A, SC should be “8”, FS should be 5.
01209 P I The evidence shows it is the variant form of 3E|, and the radical on E. &% is JJ. The radical should be changed to
I J radical, SC
(G) CHZR42428. 07 “18 JJ”, SC should be “3”, FS should be 4.
01338 E The evidence shows “Fi L USAT0935658 .7, so we can confirm it is the variant form of . The radical should be
F 3 radical, SC
(SAT) USAT09356 changed to “181 H”, SC should be “4”, FS should be 1.
01340 3 The meaning is one kind of fruits. And J5 is a =% in Middle Chinese, so its pronunciation is possible to
radical
(G) G_Z1582101 become similar to /fin/. The radical should be changed to “75 K>, FS should be 2.
01423 \' The evidence shows the phonetic component is . The radical should be changed to “37 X, FS should be 1.
l_-.[. radical
(G) G_Z2751409
01426 - The Zhuang word of G_Z4451301 is sai, the meaning is strap (7). The radical should be changed to “50 11>, FS
=
]'I.'] radical
(G) G_Z4451301 should be 1.
The Zhuang word of G_Z1641305 is fwnz, the meaning is firewood. The radical should be back to “75 K, FS
01734 JH: h
?FI radical should be 2.
(G) G_71641305
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01516 j—\ The Zhuang word of G_Z1022302 is daeuh, the meaning is ash (7K). The radical should be changed to “86 k>, FS
j()’l‘ radical
(G) G_Z21022302 should be 1.
01517 ﬂ:‘r“il» The Zhuang word of G_Z1031201 is daeuj, the meaning is €. The radical should be changed to “9 A, SC should
radical, SC
(G) G_71031201 be “10”, FS should be 1.
01546 5 The evidence shows it is the variant form of %} (U+23086), 55 is the phonetic component. The evidence shows the
%} radical, SC
(G) GHIR42341. 06 radical on H &% is Fi. The radical should be changed to “24 —, SC should be “12”, FS should be 4.
01586 %J The Zhuang word of G_Z1091301 is dan, the meaning is about cutting. The radical should be changed to “18 J]”, SC
=N radical
(G) G_Z1091301 should be “11”, FS should be 3.
01642 : The evidence shows -+ USATO05873:++-++ B R S LY B 38 O Ay ST R A e ” so this character is
H I] radical
(SAT) USAT05873 the variant form of JF. The better radical is “130 P4
The evidence shows -+ [Iii B f8 S B0 VE AR MR E2 4 th i SC AL 77 58 S i 8 F e H R B8R E A TEUSAT09486
01646 4
HZ{: radical FH M F 7, so we can confirm USAT09486 is the variant of [, and the radical of & is PN. We can clear the
(SAT) USAT09486
radical which the evidence point out is F (U+2EBC) not H(U + 6708), so the better radical is “130 .
01648 7.{ The evidence shows “USAT06769--:--- HENR BB R FAdL e ”, so we can confirm USAT06769 is the variant
H[F radical
(SAT) USATO6769 form of Jf5. The radical should be changed to “130 .
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The evidence shows “[i& - AN iz 8 Bl 2= JE JLL i R R 5 0 38 7 IR IR oy & 1IE S# /B JE IR YE US AT 06929
USATO06929 AL I AR th 74 A S AL = A -+ ”. Compare with X v2 and BE#E, “FMNE” should be

01658
H% radical corrected to “FNfz”, which the original V) L5 on HEFE is &, but the initials of #b and ¥ are both % in
(SAT) USAT06929
Middle Chinese. So we can confirm USAT06929 is the variant form of & & Ji#, and the evidence had told us the
radical is [A. The radical should be changed to “130 [A”.
01659 aa The evidence shows “USAT07093 545 i+ Tt SRS e ”, so we can confirm USATO07093 is the variant
ﬁi radical
(SAT) USATOT094 form of ¥ (U+2680D). The radical should be changed to “130 .
01661 » The evidence shows “ffi...... I AEUSATI019788EF = E it ” 3o we can confirm USATI10197 is the
H radical
(SAT) USAT10197 variant form of i and the meaning is about human’s organs. The radical should be changed to “130 .
01795 %33 The Zhuang word of G_Z0431701 is byonj, the meaning is #l. The radical should be changed to “124 |, SC
s i radical, SC
(G) G_Z0431701 should be “17”, FS should be 3.
02043 The Zhuang word of G_Z4141301 is rangj, so we can clear the phonetic component is Ji easily. This character MZ2
j\ E radical, SC BIVREE, and the original meaning of /7 is about nursing which is similar to pregnancy. The radical should be
G_7Z4141301
G - changed to “4 ) , SC should be “11”, FS should be 5.
The evidence shows .- B A0 BT IS STAEMRAE R B L E B {FUSAT10180—1” which
the original text from #t3C is “BEATTH MM MBI and some scholars thought B should be corrected to
02330 : 8 -
*ﬁilg T “B (BEE) or “B” (ZESFZE). We can confirm USATI10180 is the variant form of #£. The radical of % on
radical,
(SAT) USAT10180 Kangxi Dictionary and current Unicode is 7K, but I think the best radical of USAT10180 is . #.3 shows the

radical is X which means <X (aka ++), so we can choose # as the radical. The radical should be changed to
“55 37, SC should be “12”, FS should be 1.
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02364 The Zhuang word of G_Z3701201 is ngaeuz, the meaning is shadow, so M 4EE. So the radical should be
_f} radical, SC
(G) G_£3701201 changed to “59 Z ”, SC should be “4”, FS should be 1.
03408 f—,“—‘ The evidence shows T13-304B is the variant form of . The radical should be changed to “74 H”, TS should be
ﬁ radical, TS
(T) T13-304B “g”,
03413 HE radical, TS, IDS, | The evidence shows the earlier form of T13-304C is HE. The radical should be changed to “74 H”, TS should be
(T) T13-304C font design “8”, IDS should be “i:i HE ” and the T glyph should be updated.
03439 The evidence shows USAT05049 is the variant form of 55. This left component H is the imprecise form of =,
R radical
(SAT) USATO2049 which is included to the miscellaneous department of the Radical H. The radical should be changed to “74 H”.
The evidence shows GHZR42259.12 is the variant form of i, and the meaning has no relevance to [, so it belongs
03456 to the miscellaneous department. Note: There aren’t Radical Moon on HE#E, all the characters which are Radical
H% radical Moon and Radical Meat are under Radical Moon, so the radicals information on HE#E hasn’t reference value on the
GHZR42239. 12
@) issue to distinguish the differences between Radical Moon and Radical Meat. The radical should be changed to “74
H ”.
The Zhuang word of G_Z4222304 is riengz /yim?*/, the meaning is following (R, F&). The pronunciation of & is
03529 % Mi/ in AGIGVPHSERES RS, J0EEREMEE, MUK 955, BIZKFEE and so on. This component /5 is the folk
H radical, SC variant form of 1%, and the meaning of 1% is close to H2 and . So we can confirm the semantic component is /5
(G) G_Z4222304

which is the variant form of 1%. The radical should be changed to “30 H”, SC should be “10”, FS should be 4.
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03530 Hi3 The Zhuang word is haenx, the meaning is /. The radical should be changed to “163 &>, SC should be “9”, FS
radical, SC
(G) G_22372201 should be 5.
03767 The Zhuang word is yiet /ji:t7/, the meaning is rest (/K)3.). The pronunciation of Il is /?it/ in FEPGEMIEE L, /yt/ in
%J:ﬂ]_ radical, SC [ e B I A, R PR RARR TS, B VY EAKTEARFES. We clear the semantic component is 7K. The
&) C_£3071404 radical should be changed to “9 A.”, SC should be “10”, FS should be 1.
03799 ?;l_j The Zhuang word is coh, the meaning is [F]. The radical should be changed to “30 M, SC should be “10”, FS
| |:'] radical, SC
G) | 6.z0s31101 should be 4.
The Zhuang word is coj, the meaning of ~p is A% and . We clear ¥ is the phonetic component. % is the
03804 R - - .
ﬂi{r dical. SC corruption of % (aka &) because one of the meanings of % is F#ff, B 1H. % and % should be mixed easily
radical,
(G) G_70841103 for handwriting. The radical of 5% is ¥, but the radical of % is JI\. I suggest the radical should be changed to “87
JI\”, SC should be “117, FS should be 4.
03956 LA The Zhuang word is goek, the meaning is Jf5H. The radical should be changed to “37 K”, SC should be “9”, FS
™ radical, SC
(G) G_Z1981302 should be 3.
03961 / ‘*% The Zhuang word is huk, the meaning is &%, The radical should be changed to “61 /3, SC should be “16”, FS
ﬁl[l,‘\ radical, SC
(G) G_72582201 should be 3.
03969 = The evidence shows it is the variant form of 5% (U+23A8C). The radical should be changed to “79 %, SC should
E radical, SC
(UK) UTC-01416 be “9”, FS should be 1.
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The evidence shows “JB\---- FEH N B R EF 2 B 2 FMNE R S AR REK TLUSATO05573

03994 S R AEEANEIEITE AR -+ -+ . Compare with the other version of #3C, “ TLUSATO05573# %" means “ Lt/
A, .
1/ radical, SC
(SAT) USAT05373 #> and B EI. “FRMEE” is an idiom described phoenix (JBlE). So we can confirm USAT05573 is the variant
form of #. The radical should be changed to “59 7 ”, SC should be “7”, FS should be 3.
04257 Py The phonetic component is ¥¥, the semantic component is 4. The radical should be “167 4, SC should be “14”,
:IE radical, SC
(UK) UTC—02904 FS should be 4.
The Zhuang word is genq, the meaning is 4f#. The pronunciation of T is /ken/ in [& FUEI/K BRI 1 355, /K En/ in
04302 » in
radical, SC, TS | EFEEERIE FEEHES, /ken/ in EFURI/KEARIVK SE P55, We can confirm the semantic component is "¥. The
(G) G_Z1871405
radical should be changed to “32 1., SC should be “11”, TS should be “14”, FS should be 3.
04316 “;];_g The Zhuang word is guiz, the meaning is &', so we can confirm the semantic component is Z5. The radical should
3]
J radical, SC, TS
(G) G_Z2071403 be changed to “57 5, SC should be “18”, TS should be “21”, FS should be 1.
The Zhuang word is maenz, the modern meaning is Chinese yuan, which is a typical Sino-Zhuang cognate word, and
04586 it’s popular in Cantonese spoken area as well. The original form is 3{ (monetary unit in ancient China). /7 (aka &)
E’gj radical, SC is the semantic component which means money in this case. The pronunciation of [ is /men/ in FHZKEA3EL T FA5E,
(G) G_Z3042301

HNEERS B A, BERFALEE TG, HEMMEL TR FPEE. So we can confirm [ is the phonetic component. The
radical should be changed to “1 —”, SC should be “10”, FS should be 2.
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The Zhuang word is muenz, the meaning is concealing (FE[i#). The book (FHLFHF) (P. 53) written by EERR

il shows the semantic component is . The radical should be changed to “85 7K”, SC should be “19”, FS should

be 2.
04599
'llhI .
E% radical, SC
(G) G_73332501
The Zhuang word is henj, the meaning is yellow (#), and the evidence shows the variant form is i #[f]. The
pronunciation of [f is /hen/ in B A BHIE, BAMEELW, B EREKEWE, BERESETYEE which
belonged to Guangxi before 1952 and there are so many Zhuang people in A4S, S/ PUHEFEE and so on. We
04623 ‘%
] ,aj radical, SC can confirm this character M #FJ4E, so the radical should be changed to “201.1 #”, SC should be “3”, FS
(G) G_Z2301102

should be 4.
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The Zhuang word is rwix, the meaning is badness (1"4F, 5£). One of the meanings of B is badness, please see (¥
HUBEEJ7 5 KGR - &N 7 S 3 H8) (P, 197) written by 255€ & H%EHI. H is the variant and simplified form of
fi%. We can confirm the semantic component is H. (aka Bf). The radical should be changed to “1 —, SC should be

“16”, FS should be 1.

04738 glf»ﬂ .
EE[ radical, SC lﬁltS'BU’T .ﬁﬂt“'ﬁﬁ lﬁlm |%%]~
(G) G_Z4352403
O FH:~xnT|~TEaARE
2 O ~ME|I~A|FHEF~ O
A~ 1%
The Zhuang word is viz, the meaning is penis. Ul is a vulgo of penis. So we can confirm this character M JNE:EE.
04775 4
'%ﬁﬁ radical, SC The radical should be changed to “26 [, SC should be “14”, FS should be 5.
(G) G_74901402
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02029

G)

KA

G_Z2631301

radical, SC

The Zhuang word is iep, the meaning is pickle. It’s a typical Sino-Zhuang cognate word, and it’s popular in Cantonese

spoken area as well. In general, it would be written as [ in Cantonese text. Please see the following picture from
(HFHBEEEFM) (P. 324) written by BREREK. #3C : <7 , #it , J\ AFRAL , 7T BENE . ” The meaning of B is

related to & and 7K. The radical should be changed back to “85 7K”, SC should be “9”, FS should be 1.

[B€]yib® O@IEH.A.E.H¥K.
ReanEmESN B .B.E5% O
T W55 B 0 B2 O R 3B A & IR
F& BN B 55 ¥ ~ ) 57 v &7 BB s
wrnaages OEEMMEY & E
HRFUER: AWEB K ~E—
R, 5 10 9L € 5 Uk 0
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5.8Cand TS

SN Image Type Comment
03366 SC should be “-1”, TS should be “5”.
i ! SC and TS
(T) T13-3043
03367 TS should be “7”.
(T) T13-3044
03368 L, TS should be “11”.
by TS
(G) > 71881503
03772 Al TS should be “13”.
7 s
(UK) UTC—01438
03777 > l:: TS should be “7”.
f s
(T) T13-3074
03796 h E TS should be “12”.
%,! B TS
(G) G 20201101
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. TS should be “15”.
03803 2 1
== TS
(T) T13-3073
TS should be “9”.
03954 ,.f‘.;:.
“ TS
(T) T13-307E
03974 % SC should be “12”, TS should be “19”.
A ’g SC, TS
(G) G 71412404
03996 2 TS should be “9”.
(T) T13-3127
04006 .]:b TS should be “11”.
= TS
(T) T13-312A
04029 H:—LE TS should be “19”.
xE«[.f \ TS
(G) ¢_70201301
SC should be “12” according to the record.
00250 j}gg
H sC
(G) G_71741401
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04059 jyﬁg SC should be “17”, TS should be “24”.
e SC, TS
(UTC) UTC—01290
04061 TS should be “11”.
ﬂj | TS
(G) G_7Z0202101
04133 Hﬁh TS should be “22”.
3 TS
(G) G_71831301
04148 F—T—é TS should be “17”.
W o
(G) G_Z0032301
04152 . TS should be “10”.
i{r TS
(G) G_71822402
04155 TS should be “12”.
[N
(G) G_Z0081102
TS should be “17”.
00397 l
’ TS
(G) G_70281302
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SC should be “19”.

04187 o — s — A
ﬁ% sc Note: The evidence shows “USAT05679--- Wi FH L= H USAT05679 HEFZ 7N USAT05679 AHARTEARTE
(SAT) USAT05679 Hi-w-oo-” Compare with 53, we can confirm USATO05679 is the variant form of ##, The radical of # on Kangxi
Dictionary is HL, but the better radical is 7 according to #t3L.
TS should be “17”.
04243 Q
ii‘;:‘ TS
(UK) UTC-02088
04261 b TS should be “7”.
5 J_[A TS
(T) T13-3130
04265 :‘\ E TS should be “8”.
] TS
(T) T13-3131
04292 ‘:~—_-|'_—|'—- TS should be “14”.
25% TS
(T) T13-3134
04326 B TS should be “6”.
TS
(T) T13-313F
04376 g:l: TS should be “19”.
Emﬂ TS
(G) G_Z1882301
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04425 SC should be “8”.
i sc
(G) G_71382402
04434 ﬁ% SC should be “10”, TS should be “18”.
L SC, TS
(SAT) USATOB427
04583 L3 TS should be “19”.
ft 15
(G) G_74132502
04633 TS ShOllld be “7”.
i
(T T13-3143
04643 — TS should be “9”.
Bl | TS
(T) T13-3144
AN
) SC should be “7”, TS should be “15”.
04662 GHIRT4447. 03
fl’: SC and TS
an | Bg
T13-3145
04664 SC should be “8”, TS should be “16”.
47 SC and TS
(G) GHZRT4448. 01

24




TS should be “17”.

04740 =
A
1F TS
G) GHZRT4337. 09
04762 Ej] TS should be “15”.
1) IS
G) 670222201
01876 | = TS should be “13”.
JEL TS
(G) G_70182504
04882 ﬁﬂﬂ TS should be “16”.
TS
(G) G_70282401
04905 TS should be “12”.
% TS
(UK) UTC-02308
05011 TS should be “12,13”.
g% TS
(UK) UTC-01475
,_I'_I..
ﬁﬁ: TS should be “18”.
JI
05006 | GHZRS84996.07
it 1S
(G)
ﬁ“:l:
USAT10123
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TS should be “10”.

05134 ﬁ I\
—_— TS
(G) G PGLG1002
05227 TS should be “16”.
[ S
(G) G 71892202
05249 EFILE*LH TS should be “21”.
4 I/_'{' i TS
(G) G_Z0252102
05243 - TS should be “21”.
(G) G_74441301
05258 ] TS should be “24”.
93.1\\ TS
(G) GHZR24970. 03
05509 1k SC should be “11”, TS should be “26”.
lﬁé SC, TS
(G) GHZR85116. 12
05545 ¥ TS should be “18”.
TS
(UK) UTC-02613
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6. Font design

SN Image Type Comment
The second stoke of the right component should be corrected to \ (U+31CF).
03112 ™\ i
,.U font design / E '
G) | 6_z1521102 ( zf ﬁ j;* M )
» Y
The left part should be fit with G style and the evidence.
04883 h .
font design
G) G_20721301 ﬁ ,‘i Sﬁ
b} ) 2 »
7. Pending move
SN Image Type Comment
04479 %. Y China NB has submitted GCE-113 which has the same shape with UTC-01119 as UNC to UTC, IRG & WG2. If
d\ Pending move | GCE-113 will have been accepted to be included in URO+, UTC-01119 should be unified with it and move to the
’ new code point. And then UTC-01119 should be removed from WS2015.
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8. Misspelling

SN Image Type Comment
Discussion Record should be “not unified to U+ 29FE6, There are 3 versions for (FE#ET-2E), although both of them
05225 Jj% are the variants of FR,they are distinguished by phonetic change. Irg48.”
GHERS\:;;i o4 misspelling not unified to U+29FE6, There are 3 versions for (HE#T
G) - B£%  1lthough both of them are the variants of B, they are
distinguished by phonetic change. Irg48.
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